Newer Players

BY LARRY COHEN
larrycohen.com

ast month, responder made
I anegative double. Opener

showed a minimum. This
month, we will examine what to do
after responder makes a negative
double and opener shows extra values.

First, let's review (see June-July)

auctions where opener does show
extra values and explain what he
shows:

@
Opener North Responder South
1¢ 1A Dbl Pass
3v

Opener could have bid only 2%
but jumped. This is not a traditional
jumpshift (which would be game
forcing). This is sort of like raising a
1¥response to 3%, thus invitational.
Example hands for opener:

AAJB87 ¥Q1087 €AKJ2 &2

AQ54 YVKQJ2 ¢AKQ2 #J2
@
Opener North Responder South
1¢ v Dbl Pass
2NT

Opener shows a notrump hand
with hearts stopped (and denies four
spades). It is equivalent to 19-14;
2NT. Opener could be a little off-
shape. Example hands for opener:

AKQ WKJ10 #A10876 #KQ2

AK WA1092 €AQJ76 #K32

— 0 e ve

(3]
Opener North Responder South
1¢ v Dbl Pass
44

This is equivalent to 1¢-1M; 44,
Opener is showing a huge hand. Re-
sponder could have some 6 or 7-count
and opener has insisted on game.
Opener likely has something like:

AAQ102 W43

So, how does responder bid over
one of the jumps shown above? None
of opener’s jumps are forcing (opener
must cuebid to force). So, responder
can pass with a minimum. He can
bid on with extras - everything is
natural.

Examples:

@) Opener showed more than a min-
imum; responder can pass or go on.
For example, pass with:

Al02 WAG643 41043
but raise to 4% with:
AK2 WAO943 €103 &#10876.

@ Play opener for roughly 18 HCP, so °

pass with:
AA1076 YQ43 495 #8764,

but raise to SNT with anything more.
@ Opener has shown a huge hand.
Responder will usually pass, but
should go on with something like:

AKJ98 WA2 #J985 #KQ3.

Bid 4NT (RKC). pp

Bidding

PAKQ102 WA 2. |

#K 876, -

asics

East hands for the
September Bidding Box

* Bid these hands with a partner. The West
- hands are on page 51. The North-South

. players are silent unless otherwise
- noted. Scores on page 40-43.

Problem 1. North deals. None vul. .
.AKJ5 WAKQJS Q1052 10 .

. Problem 2. East deals. N-S vul.
‘AMA 42 WAK3 K63 #8762

Problem 3. South deals. E-Wvul.
‘MK74 WAB #A92 HK9862:

Problem 4. West deals. Both vul. :
.A82 WAKS52 K5 #AQ1086.

Problem 5. North deals. N-S vul.
"AMAJB2 PWK5 ®AK54 HAKQ:

Problem 6. East deals. E-W vul. -
"MAKO5 WK7542 4A5 SAK:

. Problem 7. South deals. Both vul.
‘AMQJI86 ¥— 4984 HKJ9832:

Problem 8. West deals. None vul. :
‘MA109864 WI7 SAQ96 #3-

September 2023 | Bridge Bulletin | 53



Newer Players

Quiz
What is responder’s second call
after: 14-19-Dbl-Pass; 3%-Pass with:

1)MAQJ6 WI0765 832 #32

2)MKJ76 WKJ2 492 Q1087

MB76 ¥3 A2 HQ108732

What is responder’s second call
after: 14-24-Dbl-Pass; 3¥ - Pass with:

4)M2 V762 Q76 #QJIT76
5)MA2 WA1087 #J1065 862

6)A5 YKQ102 #AK32 #KQJ2

What is responder’s second call
after: 1ée-19-Dbl-Pass; 2NT-Pass
with:

T)MA1092 WJ4 A J52 HAJ6

8)AMA1092 WK2 876 #J1092

Answers

1) 3¢. Correct back to diamonds (like-
ly to end the auction).

2) 3NT. Opposite extras and with
your heart stopper(s), this rates to be
right.

3) 5. Partner has extras, as do you.

4) Pass. Looks like a lot of garbage;
refuse the invitation.

5) 4¥. While not enough to have bid
again over only 2%, this should be
enough to accept partner’s invitation.

6) 4NT.RKC, likely ending in slam.
7) 6NT.18+15 = 33.

8)3NT.18+8=26.m



